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Fluency & Precision 32-digit and 3-digit Numbers

Match the calculation to the correct representation and solve,

357 – 44 = 853 – 42 = 648 – 24 =

Represent the calculations using Base 10 and solve them.

Calculate.

Hundreds Tens Ones

Hundreds Tens Ones

Hundreds Tens Ones

74 + 423 = ________

356 – 44 = ________

627 + 51 = ________

8 4 5

+ 3 4

8 4 5

– 3 4

8 4 5

+ 4 3

8 4 5

– 4 3

758 + 31 = 73 + 626 = 563 + 34 =



masterthecurriculum.co.uk

Fluency & Precision 3Answers2-digit and 3-digit Numbers

313

Match the calculation to the correct representation and solve,

357 – 44 = 853 – 42 = 648 – 24 =811 624

Represent the calculations using Base 10 and solve them.

Calculate.

Hundreds Tens Ones

Hundreds Tens Ones

Hundreds Tens Ones

74 + 423 = ________

356 – 44 = ________

627 + 51 = ________

8 4 5

+ 3 4

8 7 9

8 4 5

– 3 4

8 1 1

8 4 5

+ 4 3

8 8 8

8 4 5

– 4 3

8 0 2

678

789758 + 31 = 73 + 626 = 563 + 34 =699 597
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2-digit and 3-digit Numbers

2-digit and 3-digit Numbers

Explain the mistake Zach has made.

a)

Leanna has 268 sweets in a jar.
She gives 43 sweets to Malachi.

Which model represents this problem?

Hundreds Tens Ones

Hundreds Tens Ones

b)

Esin has 64 sweets. Tia has 214 sweets.
Which addition will find how many sweets they 

have altogether?

H T O

4 2 5

+ 2 6

6 8 5

6 4

+ 2 1 4

Explain your answer.

2 1 4

+ 6 4
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2-digit and 3-digit Numbers

2-digit and 3-digit Numbers

Explain the mistake Zach has made.

B is correct because
268 – 43 = 225.

a)

Leanna has 268 sweets in a jar.
She gives 43 sweets to Malachi.

Which model represents this problem?

Hundreds Tens Ones

Hundreds Tens Ones

b)

Esin has 64 sweets. Tia has 214 sweets.
Which addition will find how many sweets they 

have altogether?

H T O

4 2 5

+ 2 6

6 8 5

Zach has put 26 in the wrong place value 
columns.

6 4

+ 2 1 4

2 7 8

Explain your answer.

2 1 4

+ 6 4

2 7 8

Both are correct because addition is 
commutative and the numbers can be added 

either way round.


